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Wﬁp#q;ﬁr, A1+A2%
(@ 0 .

(b) TR EATE

(c) TR HUTHE

(@ 3R p, g, r vTHE § N TATHS
FAAT FOTHS

2. afe (@-b)b-c)c-a)=2 K

TR ?
(a) 3
(b) 12
(c) 14
@ 15

3. Frafofea & ¥ foF wfemet & anfim

a b c
b ¢ a
c a b

HRf Y B R 7

l.a+b+c=0
2. @® + b +c3 = 3abe

3.a+b+c2—ab-bc—ca=0
T fou T Fe w1 WM W 'S SR
qfw
(a) &9 1 3R 2

(b) %a« 2 3R 3
(c) ¥a91 1 3R 3

d 1,2°3R3
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4. TG A=[m n], B=[-n —m] 3R
c=| | & v ¥ e
ﬁﬁﬂﬁﬁﬂq:

1. CA=CB
2. AC=BC

3. C(4+B)=CA+CB
T H ¥ HH-A1 /-4 TG a8
/% ?

(@) Faw 1

(b) e 2

(c) 23R 3

(d 13R2

2sin@ cos@ 0
59 A=|-2cos® sin@ 0] T, A

-1 12559
A(adjA) Tras sez & 7
(a) I R
(b) -1
(¢). T
(d 21

Sl ] & qoansh AR € |

6. k% T w1 & forg smege

1-2sin’0 2cos?0=1 3
k 2% 1

AN B ?

(a) ¥a 0

(b) F=a 1

(c) ¥aa 2

(@) et oft arafas a9

[ 2co0s26 2cos28 6}



1pg Skt 50 |
1.L.IfA;=|1 ¢ r|andA,=|q r p
Iir p rpgq

where p#q#r, then A, + A, is

(@ o0

(b) always posiﬁve

(c) always negative

(d) positive if p, g, r are positive else

negative

. If (a—b)b—-c)c—a)=2 and abc =6,
then what is the value of

(a 3
(b) 12
(c) 14
(d 15
. Under which of the following condi-
tions does the determinant
a b c
b ¢ a| vanish ?
calb
l.a+b+c=0
2. @+ b+ = 3abe
3.2 +b+cZ—-ab-bc—ca=0

Select the correct answer using the
code given below :

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2 and 3

4. Consider the following in respect of

the matrices :

A=[m n], B=[-n —m]-andc=[_:'n]

1. CA=CB
2. AC=BC
3. C(4+B)=CA+CB

Which of the above statements is/are
correct ?

(a) 1 only
(b) 2 only
(c) 2and 3
(d 1and2

2sin@ cos@ 0

L If A=|-2cos@ sin@ 0 , then

-1 1 1
what is A(adjA4) equal to ?
(a) Null matrix
() -1
(c) 1
(d) 21

where [ is the identity matrix.

. For what value of k is the matrix

2cos20 2cos268 6
1-2sin%0 2cos’0-1 3
k 5 R

singular ?
(a) O only
(b) 1 only
(c) 2 only
(d) Any real value

A - SDFR-S-HTM



7.9H T 4 T gomia s
#R B=adid ¥ | freafafeq & 3
FH-U/F-¥ FUT w9 2/ 2

1. AB = BA

2. AB U& dfexr smegg ®

3. AB UF YA A & Tl ¢
¥ fou T Fe W W@ W g8 IR
gfv .

(a) &t

(b) Fae 1 R 2

(c) a« 2
d 1,23R3

LEAA e F af gt 4 IR B H
oy # fafafes st w fEr
Hiforg -

1. af¢ 4B U& g g #, O 4 AR
BH A F-¥-F0 @ W A
A R

2. af¢ AB U& dwHE IR B, @
BA=AB ®

IGTH # ® HH-U1/HH-Q FIH e

R/27?

(a) Fae 1

(b) e 2

(c) 13R23m=!

(d FA 1,72

g 4, Fife 3 = & TEEE AR
R 3R B zmw ufad ® @ s
C=A+B & WRi& = 79 F1 & ?
(a) 1
(b) 2
() 4
@ 8
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10. ¥ T 4 3R B gHW e & @

FHAYIE 3TeE 38 TR § fF 4B =4
R B4A=B B | Trafafem # J
FH-GT /B8 FaT W 2/F 7

1. A%>=4

2. AB*=A2B

Ea L B L ol e 1 e T
fg

(a) a1

(b) Fad 2

(c) 13R2%Ht

(d TA1,TE2

11. (1+%)9(1—2)9% R # fr

X
g7
@ 9

(b) 10
(c) 19

(d 20

12. (x +y)10 & wOR & day ¥ fFe=fafea

Eﬁﬂﬁﬁﬂ%ﬂ

1. Wt % wsft et F ¥ 6w H
NS A AfEad §

2. TR 92 F I, 97 Ug F Ui
* SR B

It # A FA-T1/FE-] FUT GE

R/%?

(a) &aw 1

(b) & 2

(¢) 13R23q=t

(@) aﬁu,a-&z



7. Let A be a non-singular matrix and

B=adjA. Which of the following
statements is/are correct ?

1. AB = BA
2. AB is a scalar matrix
3. AB can be a null matrix

Select the correct answer using the
code given below :

(@ lonly

(b) 1 and 2 only
(¢) 2 only

(d 1,2 and 3

8. Consider the following statements in

respect of square matrices 4 and B of
same order :

1. If AB is a null matrix, then at least
one of A and B is a null matrix.

2. If AB is an identity matrix, then
BA=AB.

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

9. If A is the identity matrix of order 3
and B is its transpose, then what is the
value of the determinant of the matrix
C=A+B?

(@ 1
(b) 2
) 4
@d 8

10. Let A and B be non-singular matrices

of the same order such that AB = 4 and
BA=B. Which of the following
statements is/are correct ?

1. A%2=4
2. AB’=4’B

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

11. How many terms are there in the

9 9
expansion of (l-i-%) (1—-%) ?

(a 9
() 10
(© 19
(d) 20

12. Consider the following statements in

respect of the expansion of (x +y)'°:

1. Among all the coefficients of the
terms, the coefficient of the 6th
term has the highest value

- 2. The coefficient of the 3rd term is
equal to coefficient of the 9th term

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A — SDFR-S-HTM



13.

14.

15.

16.

afe C(3n, 21)=CGn, 2n-7) &, @
C(n, n—5)% AW 51 & ?

(a) 42
(b) 35
(c) 28

@ 21

C(51, 21) - C(51, 22) + C(51, 23) -
C(51, 24) + C(51, 25) - C(51, 26) +
C(51, 27) - C(51, 28) + C(51, 29)-
C(51,30) & HF FT § ?

(@) C(51,25)

() C(1,27)

() C(51,51)-C(51,0)

) C(51,25)-C(51,27)

300 3R 400 & s #, Vet foraet forew

gan, § e @ @t s g
el BT o ?

(a) 32

(b) 36

(c) 40

(d) 45

¥ ‘TIGER’ & &1 & W forew

9T & o X o WE ) A AR
B ?

SDFR-S-HTM - A

17.

18.

19.

(a) 72
(b) 36 -
(c) 18
d 12

A Wit o R B, e
x2+px+g=0% 7@ § | Al o3 3K
B3, THERT x2+ mx+n=0 % G ¥,
WA m+nH W TR ?

@@ pP’+q¢ +pg

®) P*+¢*-pg

(© pPP+q>+3pg

@ pPP+q*-3pg

| Fﬁﬁl‘l{aﬁ?ﬁ, LT
xz—ax—bx+ab—c=0a?‘ﬂ§f g
a€ F-a1 T e € foms q@
adRbHE?

(a) xz—ax—ﬁ'x+aﬁ+c=0
) 2-—ax-Px+aBf-c=0
(c) x2+ax+ﬁx+a)3+c=0

(d P+ax+px+aBf-c=0

afq wftam
x2—ax—bx—cx+bc+ca= 0% 7@
e €, d@t Frafafea & & -
wE R

@ at+tb+ec=0
b) a-b+c=0
() a+tb-c=0
d -a+b+c=0



13. If C(3n, 2n) = C(3n, 2n—7), then what

14.

15.

16.

is the value of C(n, n—-5) ?
(a) 42
(b) 35
(c) 28

@ 21

What is the value of
C(51,21)-C(51,22)+ C(51, 23) -
C(51,24) + C(51, 25) - C(51, 26) +
C(51,27) - C(51, 28) + C(51, 29) -
C(51, 30) ?

(a) C(51,25)

() C(51,27)

(¢) C(51,51)-C(51,0)

d) C(51,25)-C(51,27)

How many odd numbers between 300
and 400 are there in which none of the
digits is repeated ?

(a) 32
(b) 36
(c) 40

d) 45

How many permutations are there of
the letters of the word ‘TIGER’ in
which the vowels should not occupy
the even positions ?

17.

(a) 72
(b) 36
(c) 18
(d) 12

Let @ and B be the roots of the

" equation x2+px+g=0. If a® and

18.

19.

B> are the roots of the equation
x2+ mx + n=0, then what is the value
of m+n?

@ PP+’ +pq

®) PP+a’-pq

(©) PP+4¢>+3pq

@ pP’+4’-3pq

Let a and B be the roots of the equa-
tion x2— ax—bx+ab—c=0. What is

the quadratic equation whose roots are
aand b?

(@ P2-ax—Px+af+c=0
b) *-—ax-px+af-c=0
(c) 2+ax+px+af+c=0
d P2+ax+px+af-c=0
If the roots of the equation

¥—ax—-bx—cx+bc+ca=0

are equal, then which one of the
following is correct ?

@ a+tb+tc=0
) a-b+c=0
(c) atb-c=0
d -a+b+c=0

A — SDFR-S-HTM



20. 9 BT @ IR B (a> B), G

21.

.rz-—8x+q=0%1ﬂ'%l
e a2 - B2=16%, A g = W T
g7

(@) —-15

(b) -10

(c) 10

@ 15

n & 98 Jftewaw AW w g, Pas

ferw (301 +351), 57 & fwrsa R, w=ia
T g9 e § 7

(a) 4
(b) 6
(c) 7

(d) 8

22.

23.

2(2x1)+3(3x2x1)+4(4x3x2x1)+
SESANInD LYk, s i +
9(9><8><7><6><5><4><3><2X1)+2 & HIH
R 7

(a) 11!
(b) 10!

() 10+10!

(d) 11+10!

afe 4=({1, 2,3} }, N 4 ¥ 9w

e (YR ®e) # fhad sma
e ?

SDFR-S-HTM - A

24,

25.

(@ 1
(b) 2
(c) 4
(d) 8
afg a, b, ¢ TOIRR Ao (GP) #F ¥, vl

a>0,b>0,¢>0%, ar feafafeg &
¥ F9-7 G € 2

1. a%, b2, c2 UIRR Aoft (GP) & §
2.4 L L i it ) % #

3. {/E,\/E,JEWM(GP)ﬁ%
9 T U e w1 W@ W Ed I
ﬁ'ﬁm: .

(a) Fad 1 3R 2

(b) Fae2 IR 3

(c) ¥ad 13K 3

(d) 1,233

afe ﬂ;b, b, b;c s vt (HP)

# & @ Fefifes % ¥ S9-w w@
&7

(a) a, b, c GO Avit (AP) # &
(b) a, b, c IR AVl (GP) F &

(©) a+b, b+c, c+a TR It
(GP) ¥ &

(d) a+b,b+c,c+aTATR A0 (AP)
R




20. Let a and B (a>p) be the roots (@ 1
of the equation x> — 8x + ¢ = 0. If

a? — B2 = 16, then what is the value (b) 2
of ¢?

(c) 4
(a) -15

(@ 8
(b) -10

24. If a, b, c are in GP where a >0, 5> 0,

(©) 10 ¢>0, then which of the following

are correct ?
(d 15

1. a2, b2, ¢? are in GP

21. What is the maximum value of n such

that 5” divides (30! + 35!), where n is a gl d e inGP
natural number ? s el
(a) 4 3. Ja, \lb, c are in GP
(b) 6 Select the correct answer using the
code given below :
() 7 :
(a) 1 and 2 only
@ 8
(b) 2 and 3 only
22. What is the value of (¢) 1 and 3 only
2(2x1)+3(3%x2x1)+4(4x3x2x1)+
HOMGRIR IR Hr0: & wivess Riosns + (d) 1,2 and 3
9(9%x8xTx6x5x4x3x2x1)+2 ?
(@) 11! 25.1f atb , b+C are in HP,
PR T
(b) 10! then which one of the following is
correct ?
(c) 10+10! ;
(a) a, b, c are in AP
+10!
wi-un ) ok ¢ aie MGH
23.If A={{1, 2, 3}, then how many (¢) a+b,b+c, c+a are in GP
elements are there in the power set :
of 47 (d) a+b,b+c, c+a are in AP

9 A - SDFR-S-HTM



26. cot?15° + tan?15° & | T § ?
(@ 12
(b) 14

(c) 83
d) 4

27. @& P 4BC H,
sind —cosB—cosC=0 ‘3 |

Fr B fored s)eR R ?
@ %
® 7
© 5

n
@ 7

2s.trF¢a+ﬁ=-’;£ 3R 2tana =1 %,
at tan2p forees TR 8 ?

@ 3
®) 2

©

Hlw

Lh|w

(d)

SDFR-S-HTM - A

10

29.

30.

31.

gfe tan(45°+0) = 1+5sin20 B, vt
-%<9<% ®, T cos20 & HF HT

27
(@ 0

®) 3

() 1
d 2

HH ?ﬂﬁrq sin20 = cos36, WEl 6 T&
AR ® | T 1 +4sinf T HE T
?

(7 R w%%smls%-—‘/%'—l)

(@ 3
() 2

) 5
(d 3

ﬂﬁtant;:—%%, al sin® & WA FT
o uEa R 7

@ 53 B -3 7 & v

(b) -3, B 2 7 & ww

=3 i
(c) i3 9991 -3

(d) I9dE & ¥ I T



26. What is value of cot?15° +tan?15° ? 29, If tan(45°+0) = 1+sin20, where
T <9< X, then what is the value of

(@) 12 4 4

cos26 ?
(b) 14

(@ 0
©) 83

1

e ® 3

() 1

27. In a triangle 4BC,
sind —cosB—cosC=0. @ 2
What is angle B equal to ?

30. Let sin260=cos30, where @ is acute

)% angle. What is the value of 1+ 4sin0?
- (given that sin18° = @)
®) 7
@ 3
© 3
3 () 2
@ 7 e
@ 3
28. 1fa+ﬁ=%and2tana=1,thenwha: :
is tan2B equal to ? 31. If tan9=-—ﬁ, then what can be the
value of sinf?
1
5 ? (@) 2 but cannot be e
13 13
2
® 3 s 5
(b) 13 but cannot be 13
3
c —
" " (c) 2 or e,
13" 1
3
@ 3 (d) None of the above

11 A — SDFR-S-HTM



4Tn . 45m 35. & G H IAAA F07 60° F wRafda
32.cos?+cos48‘$r'ﬂ1‘r'fwé? et A i
BT x Hiex il B St @ | 3 e

3
® 3 it 3 V3x WX 2, D Ffee 3
A1 w7
3
®) 4 (@ 0<6<30°
©) % (b) 30° < 6 < 45°
(c) 45° < 06 < 60°
@ =
16 (d 60° < 6 < 90°
33. sz(%+9)‘sm2[%'9) 36. afy tan”l(—;-)+tan_l(%)=% g, Wl
forass SR R 7 0<x<6®, af x fFas su=rR © ?
(a) sin26 @ 1
. (b) cos26 (b) 2
(c) 2sin@ © 3
(d) 2cos6 5
d) 5

34. s FEMR TR U AfdS qHad W
TS ® AR Wh IR h TEE T TE 37. afq 3sin'x + coslx = 7 &, 4 x for
EASGUE HEATR @1 § | wHaw & foedt S § ?

fog W oo F aw Rk o F (a)o.

I T HEAW: 03K 20 ¥ | TR
$r = TR ? 1
®) 3

(@) hcos@ '
(b). hsin® © %
(c) hcos26

1
(d) hsin26 @ 73

SDFR-S-HTM - A 12



32. What is the value of 35. The shadow of a tower becomes x

33.

34.

4T 451 metre longer, when the angle of
bl iR ’ elevation of sun changes from 60° to 6.
If the height of the tower is 3 x metre,
(a) 3 then which one of the following is
2 correct ?
(b) % (a) 0<0<30°
(b) 30° < 6 < 45°
3
© 3
(c) 45° < 0 < 60°
@ = d) 60° < 0 < 90°
What is sinz(%+6)—sin2(%-—0) 36. If m_l(%)"'tan_l(%) =:47_r_, where
equal to ? 0 < x < 6, then what is x equal to ?
(a) sin26 (@ 1
(b) cos26 () 2
(c) 2sin@ © 3
(d) 2cos6

d 5

A vertical tower stands on a horizontal

plane and is surmounted by a vertical 37. If 3sin"'x + cos 'x = x, then what is x

flagstaff of height /. At a point on the equal to ?
plane the angles of elevation of the
bottom and top of the flagstaff are 6 (@ 0
and 26 respectively. What is the height
of the tower ? 1
() 3
(a) hcos6
- gy
(b) hsin@ (c) 2
(c) hcos20
1
(d) hsin20 @ 7

13 A — SDFR-S-HTM



38.

39.

40.

af¢ tana + tanf= 1 - tana.tanB 8, &

tanotanf=1 ®, @ frafafea # @
F-|T (@+f) & #F & ¥ @ AF
g

(a)

B

(b)

ENE

©

w|y

d

z
2

afe (1+tanf)(1 +tan99)=2 B, @
tan(100) & /W T ¥ ?

(@ 0

(®) 1

(c) 2

(d) 3=a

$in0° + sin10° + sin20° + sin30° + ... +
$in360° W A FT R 7

(a) -1

(b) 0

{c) 1

d 2

SDFR-S-HTM - A
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41.

42,

= A=(1, 2, 3, 4 ¥ uA
Juaeaal | fer g | o J
e w==a (4) & sifteaa € 7
(@) 6
() 7
(c) 8
@ 9

q afceh w=aat 4 3R B & wew #
frafafaa w97t | fmr i .
1. x¢(AUB) = x¢A A94aT x¢B

2. x¢(ANB) = x¢A 3R x¢B

I H ¥ HE-°1 /-8 FE TS
g/8 7
(a) Fa 1

(b) Had2

43.

(c) 13R2g=t

(d AA 1,782

o aifceh o=l 4 3R B % way #
freafafaa w97t w R 6ifto .

1. AUB=ANB afg 3R Fa=w afe
A=B

2. AAB=p 3f¢ 3R ¥a«t afe 4=B
S # ¥ FA-A1/FE-§ T 6@
R/R?

(a) ae 1
(b) Faw 2
(c) 13K 23t
(@ Fd 1,782



38. If tana+tanf=1-tana.tanf, where 41. Consider all the subsets of the set

tana.tanf#1, then which of the A={1,2,3,4}. How many of them are
following is one of the values of supersets of the set {4} ?
(at+p)?
(@ 6
® = ® 7
(© 8
n
® @ 9

42. Consider the following statements in

(c) % respect of two non-empty sets 4 and B :
1. x¢(4AUB) = x¢A4 or x¢B
n
@ 3 2. x¢(ANB) = x¢A and x¢B

Which of the above statements is/are

39, If (1 + tan@)(1 + tan96) = 2, then what correct ?
is the value of tan(100) ?

(@) 1 only
(@ 0 (b) 2 only
(b) 1 (C) Both 1 and 2
© 2 (d) Neither 1 nor 2
c
(@ Tnfinke 43. Consider the following statements in

respect of two non-empty sets 4 and B :

1. AUB=ANB iff A=B
40. What is the value of

sin0° + sin10° + sin20° + sin30° + ... + 2. AAB= ¢iff A=B
sin360° ? !
Which of the above statements is/are
@ -1 correct ?
(a) 1 only
(®) 0
(b) 2 only
el (c) Both 1 and 2
d 2 (d) Neither 1 nor 2

15 A — SDFR-S-HTM



4.3 2-5xy+4y2=0 ® @ xRy T PP S0
TR e wom & wew NE 0 T il

W R % AR ¥ Fraffed wa i=i-ht
ﬁlﬂ'f(@lﬁl‘ll: (a) _3n
4
l. RETHE ®
® -3
2. R oufim 2
3. R G © ' (©) %
2/8 $
(@) ¥ 1 ' 200 -
47. E__l.) F AGE  (AiggEE
(b) e 2 [ it )
(c) Faw 1 3R 2 i
_ 1
@ 1,23R3 @ 7
45. fomlt wea 4 W Rl oft @ew R & (b)%
%Qﬁﬁﬁlﬁiﬂmq'(ﬁﬂmﬁ () 1
1. af¢ REg B, q R T @ @ 2%%
2-;““%%'?““‘&“% 48. Frafifen @t w R At
AR e R 1 2 6% frrsa B, et n>3 8
it 2. 843,78 R &, et n >3
IEE # ¥ IN-/FH- FIT GE :
2/% 2 I H ¥ FH-A1/FA-¥ FI9 qEl
R/% 7
(a) aﬁFllISﬁ'(Z . PR
(b) %a« 2 3R 3 (b) ¥t 2
() ¥ 133 () 1323
@ 1,23K3 (@ Ta@r 1,982
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44, Consider the following statements in

. R 1
respect of the relation R in the set IN 46. What is the principal argument of

1+i

of natural numbers defined by xRy if where i=+/-12?
x2—5xy +42=0:
@ -Z
1. R is reflexive W
2. R is symmetric (b) -%
3. R is transitive T
© 7
Which of the above statements is/are
correct ? (d 3
4

(a) 1 only
47. What is the modulus of

) 2 onl
(h) only (B_l)zmq

(c) 1and?2 only 2 2
@) 1,2and3 @ 1
45. Consider the following statements in (b) 1
respect of any relation R on a set 4 : 2
; . ; (c) 1
1. If R is reflexive, then R7! is also
reflexive (@) 2%
2. If R is symmetric, then R~ is also 48. Consider the following statements :
symmetric S '
3 S
3. If R is transitive, then R™! is also 5 31 Givigioe by O, We 2
transitive

|
2 %,- +3 is divisible by 7, where
Which of the above statements are 3

n>3

correct 7

Which of the above statements is/are
(a) 1 and 2 only correct ?
(b) 2 and 3 only (a) 1only

(b) 2 only

1 and 3 onl

W) SN ol (c) Both 1 and 2
(d 1,2 and 3 (d) Neither 1 nor 2

17 A — SDFR-S-HTM



49. 9 faenfidi # AsReeRdt R ww dm 52, 9R Fdt e Aoht (AP) =7 57 wg

e it & o+ S Wt @ arfes @ 1 W e
qF 2 50 Gt & AWTHS FT TR ?
(a) 14 (a) 25
(b) 21 (b) 255
©) 35 &0 05
(d 42

(d) 265

1 2n /
™ (“?)' S WK %, 50 ®= W 53. (1110011), = (10111), fFadF =R
(r+1)" wg T BN (S T x F g7

Faie! wal § Fafer @) ?

(@) (101),
() C(2n, n)x
b0t b (b) (1001),
() C(2n, n) (©) (111)
(d) Cc@n,n-1) ' (d) (1011),

51. afg foedt wwiaR Aoft (AP) & waw 9 54. afg x3+y3=(100010111), 3R x+y =

S W ANEA, IEF WA 11 Ue & (1111), & @ @-yP+x s
NG F SER 2, a9 I@F WEH 20 TR B ? i
TG 1 ANHS FT 7
(@) (1101),
(@ 20 -
®) 10 (b) (1001),
© 2 () (1011),
@ 0 _ @ (1),
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49. In how many ways can a team of 5

51.

players be selected out of 9 players so
as to exclude two particular players ?

(a) 14
() 21
{c) 35

(d) 42

2n

. In the expansion of (x+%) , what is

the (n + 1)th term from the end (when
arranged in descending powers of x) ?

(@ C@n, n)x
(b) C2n, n—1)x
() C(@2n, n)

d) C@n,n-1)

If the sum of the first 9 terms of an AP
is equal to sum of the first 11 terms,
then what is the sum of the first 20
terms ?

(@ 20

() 10

() 2

d 0

52. If the 5™ term of an AP is - and its

1
1 10
10% term is 5 then what is the sum of
first 50 terms ?
@ 25
®) 255

() 26

(d) 265

. What is (1110011), + (10111), equal

to ?

(@ (101)

(b) (1001);

(©) (111)

(d) (1011}

. If x3+y3=(100010111), and x+y =

(11111),, then what is (x—y)*+xy
equal to ?

(@) (1101)
(b) (1001),
(c) (1011),

(d) (1111),
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55, srafieTat

57.

e 1+[ﬂ)2 =["_2J’T

5x—4y+12<0,x_+y<2,x<03ﬁ'{
y> 0K famr fifvw | Freafafea & &
A farg wifs A o 2 2

(@) (0,0

() 2,4)

) -1, 4)

d 1,2

CEET y=[x], xe(-1,1) ¥ HEg H

frafafea st ® fer 6if, et
[.] ewH QUi 6o R

1. x=0-5 R 30H Ja&esl 0 §
2.8 x=0-5R §ad ¢

I # ¥ FH-91/B-¥ F99 qE
g/%7?

(a) &9 1
(b) e 2
(c) 13R23=t
(d Tar1,T€2

£

dx dx?

N I R
@ 3

(b) 2
© 3
d 4

SDFR-S-HTM - A
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58. U Wt el F &g om B w,

59.

38 v & frmm W F wwEd
® 1 3k smar werd 100 awt ¥ em
BT R, @ w@ fRRiw (s
fords) w2 2

(a)

(®)

© 00

@

BT f(x)=y1-(x—1)> W@ T
27

@ (0, 1)

®) [1, 1]

© (0,2)

@ [0, 2]

.RAd P =4kx IR TEEF ArfEa

(Few WeA) TR aRag &9 &1 a9
249 THE R, SRl A>0R | kF A
FE?

@ 1
(b) 2

ey 3

(d) 4



55. Consider the inequations

5x—4y+12< 0, x+y<2,x<0 and
y>0. Which one of the following
points lies in the common region ?

(@ (0,0)
®) 2,4
© 1,4
d 1,2

56. Consider the following statements

in respect of the function y=[x],
xe(=1,1) where [.] is the greatest
integer function :

1. Its derivative is 0 at x=0-5
2. It is continuous at x=0

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

57. What is the degree of the differential

4
2 2N 3
" dy\" _|d”y
equation 1+[—-[ ] -—[—2] ?

()

N Wb

(b)
(c) 3
d) 4

21

58. A radioactive substance decays at a
rate proportional to the amount of
substance present. If half of the
substance decays in 100 years, then
what is the decay constant (propor-
tionality constant) ?

® oo

—

®) =

In10
© oo

2In2
IR

59. What is the domain of the function
f (J|C)=w/14(x—-12 ?
(@ (O, 1)
(b) [-1,1]
() (0,2)
@ [0, 2]

60. The area of the region bounded by
the parabola y? = 4kx, where k > 0 and
its latus rectum is 24 square units.
What is the value of k£ ?

(@ 1
(b) 2
(c) 3
@ 4
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61. “ &
0 (sinx+cosx)2

@ -1

® 3

© 1

MW

(@

62. J.(sinx)_m(cosx)_mdx foraes s=R

7

(a) tanx+c
(b) 2+Vtanx +c
(¢) +eotx+c
(d) V2tanx+c

e*dx

X =X

63. afg 11=Ie - ¥ I,=
g+ L fes s ® ?

(a)

x
=+c
2

(®) x+ec
() In(e*+e™+c
(d)

In(e*-e™)+c

SDFR-S-HTM - A

feres SRR & 7

dx

P 3 |

22

64. J‘"':‘_dxﬁmﬁam% ?
-2 |x]

65.

66.

67.

(a) -2
(b) -1
(©) 1

@ 2

sindx + 2x & forem wmm R /%, el
0<x<Zg~?
2

@ 1

(b) 2

() 4

@ 8

1 N st

tanx+cotx
I T R, STEl 0<x<%%?

B f(x)=

@

FN-

(b)

(©)
d 2

afe

4 (x)- f(%) =(2x+-}?) (2x-31r—) 2,
A £(2) forerr SRR ® 7

(@ 0

®) 1

(©) 2

d 4

Pk Mlt—l



n
61.w11atis_[“ :
o (sinx

(a)
(b)
©

)

dx
+cosx)

7 equal to ?

1
2

B —

W

62. What is I(sinx)_m(cosx)-mdx equal

to ?
(a) Jtanx +¢
(b) 2+tanx +c
(c) ~cotx+c
(d 2tanx+c
63. I 1,=J'e""i‘i"_, and I,= ;ﬁ%,

then what is I; + I, equal to ?

(a)

x
4
9

(b) x+c

(©)

In(e*+e*)+c

d) In(e*-e*+c

23

64.

- 67.

What is I—

1

¥ li;-ldx equal to ?
(@) -2

(b -1

(c) 1

d) 2

. How many extreme values does

sindx + 2x, where 0 <x < % have ?
(@ 1
(b) 2
) 4
d 8

. What is the maximum value of the

1

tanx+cotx’ Where

function f(x)=

0<x<%?

(@)

|-

(b)

(© 1
(d 2

B =

If

4f(x)-—f(%)=(21+%) (2;:-%),
then what is f(2) equal to ?

@ 0

() 1

© 2

d 4
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68.

69.

70

71.

afg f(x) = 4x +3 R, T fofof (1) fras
R § ?

(@ -1

(®) 0

() 1

d 2

MY =18 1, 1)E %ﬁmﬁs
TR B ?

(a) -1

() 0

(© 1

@ 4

AR y=( R, Mx=1W %Tﬂ'ﬂﬁ'

FME?
(@ %
() 1

(o) 2
@ 4

A T y =[x+ 1], -4 <x < -3, &
[.] WeT™ Quils %o ® | x=-3-5 R x
& Gy H y T AFhers 4T © ?

(@ -4
®) -35
(c) 3
(d 0

SDFR-S-HTM - A
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72.

73.

74.

75.

afe %=(In5)y, &l p(0)=InS B, &
y(1) fererer ST # 7
@@ 0

(®) 5
(c) 2in5

(d) 5In5
W f(x)=10* % Geaw # Frafafes
R faar Hifvm

1. THH W (00, 0) &

2. 9% US Had Ho ©

3. 98 x=0 R IaFe1g ©
I § A HI-Y T T € 7
(a) ae 1 3R 2

(b) Fae 23R 3

(c) ¥a913R3

(d 1,23R3

lim

Jm x3 (cosec x)* T aTeR ® ?
(@ 0
1
® 5
(c). 1
(d) @ w1 sfere @

i 2ol frad ?
el g R § 7
(@) 0

() 3

(c) 6

(d) o o sfera 781 ©



68. If f(x) = 4x + 3, then what is fof°f (-1)
equal to ?

@@ -1
(b) 0
© 1
d) 2

69. If x”y* = 1, then what is % at (1, 1)
equal to ?
(@ -1
(®) 0
(© 1
(d) 4

70. If y = (x*)*, then what is the value of
% atx=1?

(a)

B | —

(b) 1
(© 2
d 4
71. Let y=[x+1], -4 <x<-3 where [.]
is the greatest integer function. What

is the derivative of y with respect to x
atx=-3-5?

(a) —4
(b) 35
(© -3
(d 0

72. If z=(ln5)y with y(0)=In5, then
what is y(1) equal to ?
(@ 0
(b) 5
(c) 2In5
(d) 5inS
73. Consider the following in respect of
the function f(x) = 10*:
1. Its domain is (—oo, o)
2. It is a continuous function
3. It is differentiable at x=0

Which of the above statements are
correct ?

(a) 1 and 2 only
(b) 2 and 3 only
(¢) 1 and 3 only
(d 1,2and 3

74. What is ligs x> (cosec x)? equal to ?
(@ 0
1
®) 5
(© 1

(d) Limit does not exist

3
SraEe =1
75. What is lim = equal to ?
:)x -1

x—=1
(@ o0
(®) 3
() 6

(d) Limit does not exist
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76, Frafafaa & ¥ fFa swe & wom 79.3f¢ xy=4225 &, W&l x AR y "AYl

.f(i)=%3_3’2‘—2+6x+531mﬂ%? ‘ ;'@;Tt'{%,?ﬁxd-y H AH W
@) W (=, 1) (a) 130
(®) (1,6) (b) 260
©) 2113
(c) ¥ (6, ) s

d) (-, 1)U (6,
{ : 80. wftaor x 2. _ 2y = o forefia awa

dx
77.39fR x=2 R WA f(x) =7 +2nx+1 2
N IFAFAA YT L, A m+8n AW (a) T A @1-Fel
R ? (b) & g9-F
@ -2 (©) T Rawd-ge
® 0 (d) T Jeqa-Fw
(@) 2 81.afs fidwi® (-5, 0), (5p? 10p) sk

(542, 10g) 1« foig @M &, T pg F

(d) I T (&) F FRw fifa q R, T prg B2

&l fomar s g
(a) -2
78. 9% y=x R y=xF &9 ¥, wa (b) -1
Tqaty # wmafla & &1 s ©) 1
R @2
@ g = 82. 90 W Ya1 F whawwr F41 § < firg
(1, -2) ¥ ToRA @ 3R &l W SRR
(@ x+y-1=0
© 3 i s B
() x+y+1=0
(d) 1 = s (d x-y-2=0
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76. In which one of the following intervals

istheﬁmcﬁonf(x)=%—l§i+6x+5
decreasing ?

() (-, 1) only

() (1,6)

(¢) (6, ) only

(d) (=, 1) U (6, »)

77. If the derivative of the function

f(x)=-’f-+2nx+1 vanishes at x=2,
then what is the value of m+ 8n ?

(a) -2
() 0
(c) 2

(d) Cannot be determined due to
insufficient data

78. What is the area included in the first

quadrant between the curves y =x and
y=x?

(a)

square unit

(b) 741—_ square unit

(c) % square unit

(d) 1 square unit

79. If xy=4225 where x, y are natural

numbers, then what is the minimum
value of x+y ?

(@) 130
(b) 260
(c) 2113
(d) 4226

80. What does the equation x% -2y=0

represent ?

(a) A family of straight lines
(b) A family of circles

(c) A family of parabolas
(d) A family of ellipses

81. If the points with coordinates (-5, 0),

(5p?, 10p) and (5¢2, 10q) are collinear,
then what is the value of pg where
p#q?

(a) -2
() -1
(c) 1
d 2

82. What is the equation of the straight line

which passes through the point (1, ~2)
and cuts off equal intercepts from the
axes ?

(@ x+y-1=0
®) x-y-1=0
(c) x+y+1=0
d x-y-2=0
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83.399 99 o §HIGRU T € ST WUH 86. A iforg et Pt 4BC &Y syotait

wgaier # QM @t sk @ry-2=0% BC; CA 3R AB ®t @i=arsat #9%: a, b
afwag? R c® | AR p @ Progw =1 ufemm sk
g A% &, @
@ 2+pP-2-2-1=0 p(p—za)tan(g)ﬁm%w%?
) 2+y2+2x+29+1=0 @ ¢q
(©) B+y2-2x-2p+1=0 gt
(©) 3q
d) X2+y*—4x-4y+4=0 @ 4q
84, ATt (-3, 0) 3R fgar x-3=0 T 87. 0% W W@ x+2y+2=0 3R
TaTd T GHIGOT T § ? 2x — 3y —3=0% whreog fag & ToRdt
? | 78 < wguly § seR saane
(@) P=3x I © | SaEvEl & fRum WA &
TR T § 7 :
(b) x*=12y @ 2
© »=12 (b) 3
@ y2=-12s s
(d 6
85. Qg a2 +2y2=1H WfwET & fiw : :
fhad 88. for wicaet & srefier X
ax+by+c=0dR bx+ay+c=0
@ 1 TR (a#0,b#0) T 7?
(a) ¥ a—-b=0
®) V2
(b) T a+b=0
o @ E-1=0
@ 242 (d) ab+1=0
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83.

84.

85.

What is the equation of the circle
which touches both the axes in the first
quadrant and the line y—2=07

(@ ¥*+y*-2x-2y-1=0
(b) x>+y*+2x+2y+1=0
(€) X2+y*-2x-2y+1=0

(d) x2+)>—4x-4y+4=0

What is the equation of the para-
bola with focus (-3, 0) and directrix
x-3=0?

(@ y*=3x
(b) x*=12y
() »*=12x

@ y*=-12

What is the distance between the foci
of the ellipse x2+2y2=17?

(@ 1
(b) 2

©) 2

d 22

29

86. Let a, b, c be the lengths of sides BC,

CA, AB respectively of a triangle ABC.
If p is the perimeter and ¢ is the area
of the triangle, then what is

(5~ 24) m(i‘f) equal to?
@@ ¢

() 2¢

(©) 3q

(d) 4q

87. A straight line passes through the
- point of intersection of x+2y+2=0

and 2x — 3y — 3 = 0. It cuts equal inter-
cepts in the fourth quadrant. What is
the sum of the absolute values of the
intercepts ?

(@ 2

() 3

(© 4

(d 6

88. Under which one of the following

conditions are the lines ax + by + ¢ =0
and bx + ay + ¢ = 0 parallel (a # 0,
b#0)?

(@ a-b=0 only

(b) a+b=0only

(c) @®-b=0

(d ab+1=0

L]
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89, @r x+y=p® FSuis @t ¥ FeA
W W @rEs & Aefag & fagua @
wHiEw 1 8, (ST p U arafas
& R) ?

@ x-y=0
(®) x+y=0
© x-y=p

(d x+y=p

90. af% f&g (x, y) 75 (24, 0) 3K (0, 3a)

%W{&W%Wﬁa>0%?ﬁ
fraffm #d fm-wwdi @ 7

(@) 2x—3y=0

®) 3x-2y=0

(c) 4x-6y+5a=0

(d) 4x—6y—5a=0
I W (03 gt & fog frafafem w
foemr fifSre .
THAA 6x+hky+3z—12=0, &l k#0 B,
s sret @ W 4, B 3R CWR Frean
? | @G 3R 4, B, C & ToRA 9 A &
THIERU x2+ )2 +22—2x—3y—4z=0% |
91. kS HH T § ?

(a) 3

(®) 4

(c) 6

d 12

SDFR-S-HTM - A
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92. A p 7 F ¥ ¥ THAW W wwaEa g
A fefrfa dd sm-arad & 2

(@ 0<p<05
() 05<p<1
() 1<p<1s5
@d p>15

93, 7fg AR A ¥ Iy ¥ R A
@ & geiER T g ?

(@ x=y=z

(b) 2x=3y=4z
(€) 6x=3y=4z
(d) 6x=4y=3z

T R (02) vt F forg frafofen w fmwr
#fia

W wifeg
(2,3,-6)%w%|

2x_ 2y z_
T+ +2=2, fag

94. g R forelt e & Regp-srquma
R 7

(@)
(b)

.3 2.1
<2, 3, 6>
(c) <6, 3, 2>

(@) <1,2,3>



89. What is the equation of the locus of the
mid-point of the line segment obtained
by cutting the line x + y = p, (where p
is a real number) by the coordinate
axes ?

(@ x-y=0
(b) x+y=0
© x-y=p

@ x+y=p

90. If the point (x, y) is equidistant from

the points (24, 0) and (0, 3a) where
a > 0, then which one of the following
is correct ?
(a) 2x-3y=0
(b) 3x-2y=0
(c) 4x—6y+5a=0
(d) 4x—-6y—5a=0

Consider the following for the next three

(03) items that follow :

The plane 6x + ky + 3z— 12 =0 where k# 0
meets the coordinate axes at 4, B and C
respectively. The equation of the sphere
passing through the origin and 4, B, C is
242 +22-2x-3y—4z=0.

91. What is the value of k ?
(@ 3
(®) 4
() 6
@ 12

92. If p is the perpendicular distance from
the centre of the sphere to the plane,
then which one of the following is
correct ?

(@ 0<p<05
(®) 05<p<l1
() 1<p<1s5

d p>15

93. What is the equation of the line
through the origin and the centre of the
sphere ?

(@) x=y=z
(b) 2x=3y=4z
() 6x=3y=4z

(d) 6x=4y=3z

Consider the following for the next frweo (02)
items that follow :

Let the plane %{+2Ty+%=2 pass through

the point (2, 3, —6).

94, What are the direction ratios of a
normal to the plane ?

(a) <3,2 1>
(b) <2, 3, 6>
(c) <6, 3, 2>
d <1, 2, 3>
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95.afc 3@ wHaw TR fewe @l W

96.

97.

ST Y 3T T p, g IR r B,
R (p+ g+ r) oS TR 2 ?

(a) 10
(®) 11
(c) 12
d 13

afs 4i + j -3k 3R pi +qj -2k WXEE
FHA: T E ?

(@) 4,1
(b) 1,4

(©)

w|oo

2
3

(d)

WM
w|oco

afe foredt Pt 4BC % ot 4, Btk C
%f@lﬁlﬂﬁﬁlmzﬁ’,zaﬁ”{?%
iR Gz Bw =1 Fgw R, @ AG
forass st ® 2

= 5
2a-b=-¢c

&) 25
(c) 3+?—-2£_1)

-
C

- =
a—-2b-2
(@ 4=25-2¢

SDFR-S-HTM - A
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99. W e 2, b IR ¢

98, frafafa Fuat w fmr $ifte .

I.gﬁw'wmma,aﬁw'ﬁmqut

FEATHS B

S # ¥ A-an /A2 wa w@
/27

(a) &ad 1

(b) Fa 2

(c) %ael 132

(d) 1,233

R

aftwr 38 R & 6 axb=C 1 3@
fomferfa ot w frew Aiftrg :

Lafk b IR CRemE QT
Frfeeta @ |

2.9 7 Wk b RumE A ¢
afgeia 2

I § ¥ A-a /A
R/

(a) a1

(b) Fa 2

(c) 1323l
d TAL,ATR2



95. If p, g and r are the intercepts made

by the plane on the coordinate axes
respectively, then what is (p+g¢g+7r)
equal to ?

@) 10
(b) 11
© 12
@ 13

96.If 4i+j-3k and pi+qj-2k are

collinear vectors, then what are the
possible values of p and ¢ respec-
tively ?

(@) 4,1
() 1,4

8 2
(C) 31 '3"

) %.

w|oo

- 7 = o
97.If a, b, c are the position vectors of
the vertices 4, B, C respectively of a
triangle ABC and G is the centroid of
the triangle, then what is 4G equal
to ?

() |t

23-b-
(b) __9_3_

33

98.

99.

Consider the following statements :

1. Dot product over vector addition
is distributive

2. Cross product over vector addition
is distributive

3. Cross product of vectors is asso-
ciative :

Which of the above statements is/are
correct ? :

(a) 1 only
(b) 2 only
(¢) 1 and 2 only

(d) 1,2 and 3

-3
Let E), b, c bgthree non-zero vectors
such that ax b = ¢. Consider the fol-
lowing statements :
_)
1. @ is unique if b and € are given

= : = = ’
2. c is unique if @ and b are given

Which of the above statements is/are
correct ?

(a) .1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2
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100. 5 i 7 Ik b, o S alw =

101.

102.

var & f6 [a-bl<2 2 1aR Tk B
& < @ 20 B, @ Frefafea 3
F-61 W R ?

(a) e 0<sinf<1
(b) Fae —%<sin6<-21—

(c) ¥ad —1<sinf<0

(d) -1<sinf<1

1,2,3,4,59 & q 3% Agfoos &7 @
I 9§ AR IR TH-g & on e
WA | 36 w1 B Wik €
T VA 6 AT 3R 0 ATY ?

n

@ 1o

(b)

W W=

©

(d

(FAFN

TH VAR ¥ WH o9 (@) F Age

argfa o (Uehegerhl WA §Y) TS
IR foww 2 | 9% @ 71 fasd foapren
T T & ? '

(a) W;mﬁm > agE
(b) WTEA > Eerh > HIEAHT
(c) wiferar > wen > sges
(d) g > Aifera > wiey

SDFR-S-HTM - A
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103. 9= HTHE WEOIT T WER0T 368 | AR

104.

105.

3 V@O F ¥ 9K V0w 2,2, 4,5 €, @
AY Ve TR ?

(@) 4
(b) 5
© 7

@ 9

T qHIR A0t (AP) % 50 TSt &1 FHIR
w1eq 41 B Rrae waw ug 4 3R 9
IR 4R ?

(a) 50

(b) 51

(c) 100

(d) 102

21, 34, 23, 39, 26, 37, 40, 20, 33,27 &
e e e (wrer & foran )
FE?

(@) 011

(b) 0-22

() 033

(d) 044



100. Let 7 and 3 be Wb wnit  vectors such 103. '1:h:: v_ariance of five positive obse_rva—
Ly = : tions is 3-6. If four of the observations
that Ia—b|<2. If 260 is the angle

4 i are 2, 2, 4, 5 then what is the remaining
between a and b, then which one of observation ?

the following is correct ?

(@ 0 <sind<1 only "
®) -3 <sinf<jonly ® 5
(¢) -1 <sinf <0 only . © 7
d) -1 <sin < 1

@ 9

101. Two digits out of 1, 2, 3, 4, 5 are
chosen at random and multiplied :
together. What is the probability that 104. What is the arithmetic mean of 50

the last digit in the product appears terms of an AP with first term 4 and
as 07 common difference 4 ?
@ = 0
10 . @ 3
®) 1 (®) 51
c) 100
© % 9
d) 102
4
d 3
\ : 105. What is the coefficient of mean devia-
102. The frequency curve (assuming uni- tion of 21, 34, 23, 39, 26, 37, 40, 20,
modal) corresponding to the data 33, 27 (taken from mean) ?

obtained in an experiment is skewed to
the left. What conclusion can be drawn

from the curve ? (@ 011
(a) Mean > Median > Mode (b) 022
(b) Mean > Mode > Median

2 (c) 033
(¢) Median > Mean > Mode
(d) Mode > Median > Mean (d) 0-44

35 A — SDFR-S-HTM



Fe d= (03) wE & fou feafafee w
R Hifsg .

100 % & 3% Y AAT & TH T4 x,, x,,
X3, ... X, & fa=emt &1 st 9 —20 @ 3k
92 % ¥ FH M I AMI F AT &
et = <fistig arr 1402 |
106. AT HT AT FTE ?

(a) 91

(b) 96

(c) 98

@ 99

107. 99 # & AT T T AN & WA &
foreeat @ st A FT @ 7

(@ 0
(®) 10
© 20
(d 40
108. A » & A ik T T wAN F Gy

% forget o <t arr 180 &, @ y
& AW TR ?

(a) 80
() 85
(©) 90
@ 95

SDFR-S-HTM - A

I wA (03) uE F forg feAfafea <=
(321) | fmr HifS ;

TS AT H 51 DT g VWIS GHIGL A0
(AP) & %, T v 95 4 ® 3R 916 3R
3%
109. WTHIHT T AT 7471 © ?

(@) 67

(b) 71

) 75

@ 79

110. wraisht <6t wrferer T @ ?
@ 795
(b) 79
(c) 785

@ 77

. 111. wifees @ 3% o fa=est & e

TR ?
(@) -1
() 0
© 1

d 2



Consider the following for the next three
(03) items that follow :

The algebraic sum of the deviations of a
set of values x;, x,, X3, .. x, measured
from 100 is —20 and the algebraic sum of
the deviations of the same set of values
measured from 92 is 140.

106. What is the mean of the values ?
(@) 91
(b) 96
(c) 98

(d 99

107. What is the algebraic sum of the
deviations of the same set of values
measured from 99 ?

(@ 0
(b) 10
(c) 20

(d) 40

108. If the algebraic sum of the deviations
of the same set of values measured
from y is 180, then what is the value
of y?

(a) 80
(b) 85
(c) 90

(d) 95

Consider the following data for the next
three (03) items that follow :

The marks obtained by 51 students in a class
are in AP with its first term 4 and common
difference 3.

109. What is the mean of the marks ?
(a) 67
(®) 71
(c) 75

d 79

110. What is the median of thé marks ?
(@) 795
(® 79
(c) 785

@ 77

111. What is the sum of the deviations
measured from the median ?

(a) -1
(®) o
(c) 1

@) 2
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I W= (03) 9 F o Feaffee =
(%21) W =R v -

s A () F forg 90 s € | s A
WEms | THAIPR AT I
w I R

wrawmt | e-wramt
* " = wea
AT
Jad & 18 9
ERUET
3af A
FH & 36 27
ERLE
7w #ife Gag wer § T e vea s
& arTeHR foram AT 98 wow € IR T
7 we & 1% fom wed smes & wrEreR

A iad & ogwa 2
112. P(GN T) fred aer & 2
(@
(b)
(©)
)

b iw wiN K=

113. P(G|T) fired s & 2
(a)
(®)
©

N 9le 9w 9N

@

SDFR-S-HTM - A

114. P(T|G) foreds srram & 7
@

(b)

LD

(©)

wlw

(d)

Hlw

w @ (03) vt F o Feafafes =
(Fe1) ® R fifvg

fredt s #, st # R i @
dife e &t weast i\ 331% ¥

115. 0 &a & F1 wilkEar § & 6 st
¥ ¥ g9 ®7 F 3 FEHR 3 AR A
difea &t ?

80
@ 739

—
o

(®)

o0
[u—

O 243

160
@ =5



Consider the following data for the next

three (03) items that follow :

There are 90 applicants for a job. Some of
them are graduates. Some of them have less
than three years experience.

Number of | Number of
graduates |non-graduates
At least
3 years 18 9
experience
Less than
3 years 36 27
experience

Let G be the event that the first applicant
interviewed is a graduate and T be the
event that first applicant interviewed has
at least 3 years experience. :

112. What is P(G N T) equal to ?

(a)

()

(©

(@

(O I VT [ FS R  [S

113. What is P(G ﬁ") equal to ?

(a)

(b)

(c)

(d

N e Q. N

39

114. What is P(T|G) equal to?
(a)

?
4

(b)

W |

©

w|w

(d)

W

Consider the following data for the next
three (03) items that follow :

The incidence of suffering from a disease
among workers in an industry has a chance

of 331%.

115. What is the probability that exactly
3 out of 6 workers suffer from a
disease ?

80
e

[
<

(®)

oo
f—

10
(c) 243

y 160
@ -5
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116. 30 s1a Ht T Wt 6 6wl st dm (03) wEl ¥ oo feafafRea
Faa M adiRa & 7 aRearar-seq | fER fifte

L0 0-20 | 20-40 | 40-60 | 60-80 |80-100
(a) ._6_6.2 2
729 qETar | 17 | ptg| 32 [p-3¢| 19
64 T AREARAT 120% | 7 50 R |
® =
118. pF AR FT & ?
(@ 25
O
() 26
1 (c) 27
d) —
@ 725 @ 28

117, 58 a1 & 70 W R gEmt M g HARER?

T YT & TR A A @ 1
b h (b) 2
@ 228 ik
729 @ 4
®) 86 120. 3t v Fen Fi TRIRAT T K &
e STQ, | ATET 4T BRm ?
(a) 25
653
(©) 729 : S
() 75
596
@9 @ 100
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116.

117.

‘What is the probability that no one

out of 6 workers suffers from a
disease ?

- 665
(a) 729

64
®) S
© =

@ =55

What is the probability that at least
one out of 6 workers suffer from a
disease ?

728
@ 729

665
(b) 729

653
(c) 790

596
d 779

Consider the following frequency distri-
bution for the next three (03) items that
follow :

Class 0-20 [20-40 | 40-60 | 60-80 | 80-100
Frequency | 17 |p+gq 32 p-3q| 19

The total frequency is 120. The mean is 50.

118. What is the value of p ?
(@) 25
() 26
(c) 27
(d) 28

119. What is the value of ¢ ?
@ 1 '
®) 2
(¢ 3
(d) 4
120. If the frequency of each class is

doubled, then what would be the
mean ?

@@ 25
(b) 50
(c) 75
d 100
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : SDFR-S-HTM Test Booklet Series

TEST BOOKLET
MATHEMATICS

Time Allowed : Two Hours and Thirty Minutes Maximum Marks : 300

2.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU.SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and
Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the
Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test
Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet.

This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to
mark on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.
You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to take
away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong Answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which
a wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one
of the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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